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Section : General Intelligence and Reasoning 

Q.1 Select the option that represents the correct order of the given words as they would
appear in an English dictionary. 
1. Variance
2. Violence
3. Vanquish
4. Vampire
5. Valiant
6. Victorious

Ans X 1. 4, 5, 3, 1, 2, 6 

X 2.5,3,4, 1,6,2 

., 3. 5, 4, 3, 1, 6, 2 

X 4.4, 3,5,2, 1,6 

Q.2 Which two signs should be interchanged to make the given equation correct?
756 + 252 + 89 X 180- 63 = 384 

Ans ., 1 . + and x 

X 2. +and­

X 3.-and + 

X 4.+and + 

Question ID: 264330129466 

Status : Answered 

Chosen Option : 3 

Question ID: 264330132504 

Status : Answered 

Chosen Option : 1 

Q.3 Select the option that represents the letters that, when sequentially placed from left to
right in the blanks below, will complete the letter series. 
AESO_WDAE _ _  MWDA_SOM_D_ESOMW_ 

Ans X 1. MOSEDAW 

X 2. MSOEDAW 

X 3. MOESWAD 

., 4. MSOEWAD 

Question ID: 264330131037 

Status : Answered 

Chosen Option : 4 
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